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1. Simplify 3/(2 — x)5
1k Y2 - x)3

2—x
2. Simplify 3/(x — 2)%, (x < 2)
Y (x —2)*, (x < 2)
2—x
3. Simplify 3/(m —2)* + 3/(m —3)¢, (2 < x < 3)
K Jm=-2)*+Ym—-3)¢,(2<x<3)
1
4. Simplify (3Yab?)3
(3 Vab?)?
27b3/a3b
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5 Simplify V27
1t J2v7

28
Tt
6. Simplify \/54 >
A \/54a7
bV4a2b
6as

7. S|mp||fy<7b\/_— >—(b2\/27“ 5vVaZx)

%] <7b\/_ :>—(b2\/5—5\/aT)

4b3/a + (5a — 3b)Vx

. . 1
SR
o 1
'ﬂﬁlE—J\[i_h[g_ﬁ

2v5 + 5v2 + /70
20
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—-3¥az¥/b3c?
9¥/avbVc3

A =3 3az%/p3c?

e 3 VbV

9. Simplify

&

1
-5 VaVbye
. e n 3
10. Simplify \/m
i "
1
-3 3xn-1
11. Simplify 1 + (Yx — 2)
1+ (Vx-2)
Va3 +4Vx +2Vx + 8
x—16
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12. S|mp||fyﬁ
e 1
1 fa 3341

13. Calculate v 61 + 24+/5
HE V6142445

14. Calculate v/ 2 + \/5_’
itEV2+43
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4

3v5 -4
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15. Calculate v/V18 + /10

& JV18 +410

V200 + /8
2
16. Solve the equation V2x2 + 7x — 2 = x
TEV2x2+7x -2 =x
x=1
17. Solve the equationvV2x —4 —Vx +5=1
BHERV2x —4—-Vx+5=1
x =20
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